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H2FEETHYI
29} o1 2t o1 2t
=2k (ka) SH($) =2(ka) SH($) Z2(%) SH($)
el 273,749.60 2,583,022 295,385.60 2,854,362 7.9 10.5
HEetE 120,688.20 1,133,131 126,524 1,169,058 4.8 3.2
0= 100,468.10 805,735 129,272.20 1,080,945 28.7 34.2
a2 14,930 76,103 15,862.40 109,637 6.2 441
HLECH 1,066 37,351 2,350 97,240 120.4 160.3
OlActed 6,508.40 84,690 5,980 87,170 -8.1 2.9
2 Ol Al OF 3,616 63,938 4,272.20 83,098 18.2 30
= 2,333 60,563 2,915.40 56,115 25 -7.3
gO0tZ 2 ItS3= 0 0 1,310 44,000 0 0
== 6,742.70 100,283 3,163 39,797 -53.1 -60.3
Z28H|0t 860 17,180 780 18,400 -9.3 7.1
AJtE=2 1,301.50 15,769 1,025.40 17,742 -21.2 12.5
Ot=2 8l El Lt 780 11,600 635.6 15,870 -18.5 36.8
ZHA 85.3 13,525 54.9 9,938 -35.6 -26.5
A EZ| 0} 34.5 7,442 44.6 7,585 29.3 1.9
CH et 317 4,322 350 4,500 10.4 41
=g 16.8 1,888 22 3,192 31 69.1
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- doimol =R £E20IS WERS, 012, L2, HUD SO US
- 2012 HQIZOI IIE 2Ol £BE RS UIYBER 1,169,058 LHE JI=5HAS
- 0 FI2 0=, 2=, HUC SOl M2D US|, 22t 1,080,945 22, 109,637 22,
97,240 EdE JIE
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012+ 1 Ch
27} o121 o121
Zzko) | 2UEG) | k) | 2UG) (%) | 26
=7 21,933 | 130,896 | 109,274 | 661,190 398.2 |  405.1
N 0 0 32,466 | 429,012 0 0
HEatE 210 5,399 8,137 88,437 3,774.80 1,538
== 7,010 21,973 42,310 42,698 503.6 94.3
HES 8,392 24,255 10,251 31,758 22.2 30.9
0= 1,155 22,775 14,318 31,001 | 1,139.60 |  36.1
EE! 0 0 1,550 22,241 0 0
=g 0 0 50 6,799 0 0
OIEelot 1,020 22,022 165 5,943 -83.8 -73
2= 82 2,708 18 2,285 -78 -15.6
HAIZ 0 0 3 700 0 0
SEUC 50 780 6 256 88| -67.2
5% 374 5,842 0 60 -100 -99
Ol = 4| Al OF 3,640 25,142 0 0 -100|  -100
=X: KATI (2013.2.18)
O HoImo| 20129 +AHS 661,190 L2 0/ =S ChHl 405.1% ZIHe +%2

- 20124







